Section 7.3
p.309: 1, 2,6, 8,10, 13, 14-19, 21, 23

#1 Find the sum of the measures of the angles of
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On a clock a segment is drawn connecting the niatkeal 2 and the mark at the 1; then
#& another segment connecting the mark at the 1tenthark at the 2; and so forth, all the

way around the clock.

a. What is the sum of the measures of the anglesegbdhygon formed?
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10. How many sides does a polygon have if the alutine measures of its angles is.

+ oogy  Q00F 190(n-2)

C=h-2
"l :nl B
=1g0n-2)
b. 14407? > l‘—l"-[*eoz 2
2860 =\80(n-2) o :n]

c. 28807? ‘lb = n-2

lg=nN

1gox -720 = 190 (n-2)

d. 180x-720? — 2o T =
e. 436? 2.4212=n-2 (x-2 =n

4.422=n (\mposs(bW)

> cuo = 150 (n-2)
3-hn-2

S=n

f. Six Right angles?—

#13 What are the names of the polygons that aottai following numbers of diagonals
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#15 Tell whether each statement is Always, SomedjroeNever True

a. As the number of sides of a polygon increasesntimber of exterior
angles increases A

b. As the number of sides of a polygon increasesstine of the measure of
the exterior angles increasdy

c. The sum of the lengths of the diagonals of a patyigagreater than the
perimeter of the polygon S

d. The sum of the measures of the angles of a polf@omed by joining
consecutive midpoints of a polygon’s sides is equ#éhe sum of the
measures of the angles of the original problgmn

16. If AB > BC, find the restrictions on Point B’s

a. x coordinate @ < x <l 1

b. y coordinate 7 <X 10
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9 Using the dl‘agram.wn‘H« a proof of the

midline Theorem 'R B (2bi2¢)
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19 If three of the following four statements al®sen at random as given
information, what is the probability that the fdudtatement can be proved?
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#21 Explain why each of the three ingredientheformula for the total
number of diagonals is needed.
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#23 Seven of the angles of a decagon have meashose sum is 1220. Of
the remaining three angles, exactly two are comeidary and exactly two
are supplementary. Find the measures of these #mgles
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